[bookmark: _GoBack]Name ___________________________			Holiday Take Home Exam – Proportions & Ratios

Please show your work for EVERY question, even the multiple choice. You will not receive credit for a question if there is no work shown.
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6. When a plumber is called, the cost of the service call is $50 for him to show up at your house,
plus an additional $25 per hour. The plumber charged you $162.50 for the service. How many hours did
he spend on fixing your kitchen?
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Which representation shows a proportional relationship between x and y?
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A vehicle uses 1% gallons of gasoline to travel 13% miles. At this rate, how many

miles can the vehicle travel per gallon of gasoline?
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The cost of oranges in a grocery store is directly proportional to the number of
oranges purchased. Jerri paid $2.52 for 6 oranges. If p represents the cost, in
dollars, and n represents the number of oranges purchased, which equation best
represents this relationship?

a) p=042n b) p=2.52n c) p=6n d) p=15.12n
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Last week Len spent $18 to bowl 4 games. This week he spent $27 to bowl 6 games.
Len owns his bowling ball and shoes, so he only has to pay for each game that he
bowils. If each of these bowling games costs the same amount of money, what is
the constant of proportionality between the money spent and the number of
games played?

A 15

B 20
C 45
D 9.0
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The graph shows the relationship between x, the amount of time in hours, and y, the
distance traveled in miles, by a probe before it reaches Mars.
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Does the graph represent a proportional relationship? Why or why not?

Justify your answer.

Determine the number of miles the probe travels in 5.5 hours.

Show your work.
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